
Caution: Always wear Caution: Always wear 
safety glassessafety glasses

MADE IN TAIWAN

1. Remove the retainer bolt from the balancer.
2. Carefully choose the proper size bolts that fit holes in 

balancer.
    This kit includes:

    • Three black-oxide plated 3/8" x 2" fine 24 pitch bolts
    • Three nickel-plated 5/16" x 2" 18 coarse pitch bolts

    • Three yellow-plated M8 - 1.25 x 80mm metric bolts
    • Three black oxide-plated 3/8" - 16 x 4" coarse bolts

    • Bolts for GM 3300 & 3800 V6 Engines
3. Place bolts through the slots in the puller making sure the washer 

head rests on the flat side of the casting.
4. Carefully thread the bolts into the balancer evenly.

5. Select the flat or pointed cap as needed and fit over the end of the large 
center forcing screw.  Turn forcing screw slowly until balancer is removed.

Before removing 
harmonic balancer it 
may be necessary to 
remove the radiator.

Harmonic Balancer
Puller Kit

Harmonic
Balancer
Puller Kit

27187

27187


